moom A B kW
P
Hi X o HEAT R 9@%’? 5 A Ve & 3
oo X 3,979 29 3,759 3,853 7,612
A i A X 4,619 23 5,224 5,463 10,687
R H X 8,391 57 8,902 9,280 18,182
A | O X 2,453 16 2,369 2,694 5,063
AR X 4,959 30 5,400 5,670/ 11,070
Al K H X 8,101 45 8,434 9,220 17,654
Bl /R B i X 4,844 19 5,423 5,767 11,190
b i i X 2,168 5 2,311 2,464 4,775
= #t 39,514 224| 41,822 44,411 86,233
il T I SR
o X 125 114 87 201
41 i JF X 117 128 83 211
R H X 163 133 135 268
O X 65 55 46 101
B AR M X 83 84 59 143
A | K H O X 109 101 112 213
Bl 71 B i X 164 122 82 204
b ¥ X 46 16 38 54
a it 872 753 642 1,395

L AL
g | M T 8 T
5O X 4,104 3,873 3,940 7,813

A o o X 4,736 5,352 5,546 10,898
N g £/ X 8,554 9,035 9,415 18,450
S 2,518 2,424 2,740 5,164
AR H X 5,042 5,484 5,729 11,213
A X B O X 8,210 8,535 9,332 17,867
Fe] 971 BE HH X 5,008 5,545 5,849 11,394
b = H X 2,214 2,327 2,502 4,829
= G 40,386 42,575 45,053 87,628
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HT % H 7 I My 4 LR 7 I 5 my %4 QLRSS 5 I B

FAFE AT 1 0 1 1 M1 T H 192 205 245 450 Ha T 366 380 419 799
F AT 14 13 18 31 PRI 2 T A 248 231 253 484 LR 609 708 767 1,475
R IEHT 18 20 17 37 A3 T H 221 224 247 471 GHE 1 T B 196 235 232 467
SUETHT 94 91 95 186 VB 6 kT T 161 129 190 319 G2 TH 126 145 147 292
ST 123 104 116 220 P4 T H 152 171 180 351 GHR 3 T H 362 379 442 821
7 BT 26 19 34 53 BT HIK A 4,104 3,873 3,940 7,813 GHR 4 T B 28 29 31 60
T 31 25 34 59 GHRE 1 T H 253 268 296 564
A e 4 4 2 6 W1 T H 134 137 163 300 GHRT 2 T B 76 92 100 192
f T 34 31 42 73 i 2 TH 223 219 247 466 GHEHEET 1 T H 187 183 176 359
K THT 12 10 12 22 M3 TH 202 291 294 585 GHEHEET 2 T H 55 54 57 111
ST 41 42 45 87 A2 HET 206 210 225 435 #I1TH 488 448 490 938
FEaRT 25 20 34 54 ey 306 334 340 674 w2 TH 62 67 75 142
AT 27 24 25 49 iR 1 TH 0 0 0 0 w4 TH 14 12 19 31
EEN) 64 60 72 132 B2 T H 327 504 485 989 GHRIG 1 T H 357 356 379 735
R VT 30 39 40 79 AVREL T T H 315 324 285 609 GG 2 T H 349 348 365 713
I T 20 26 27 53 AMRJE 2 T H 253 316 326 642 {GHRIE 3 T H 247 258 245 503
Ky 40 50 58 108 VAR 3 T H 212 220 251 471 GHRIG 4 T A 293 297 350 647
b AT 29 28 25 53 AVAJE 4 T H 370 537 509 1,046 GHRIG 5 T H 184 191 187 378
AT 29 28 28 56 AMRJE S T H 244 269 298 567 GHRIE 6 T H 135 136 139 275
AT 24 22 30 52 T 131 142 150 292 i1 T H 332 441 417 858
AgEAT 23 19 27 46 AT 214 215 249 464 k2 TH 196 250 258 508
CRR) 18 15 14 29 ST 301 324 344 668 I (R 210 126 199 325
SEIERIT 16 18 16 34 INT 233 237 247 484 M3 TH 305 323 336 659
s ACHT 49 41 53 94 EE) 116 107 126 233 k4 TH 326 329 331 660
AT 36 36 41 77 iy 206 206 230 436 Wik 5 TH 0 0 0 0
Vi B B AT 33 25 40 65 #1TH 191 175 200 375 (HHl < 8,554 9,035 9,415 18,450
BE R AT 117 92 97 189 #r2 T A 129 144 124 268

i 5 2 3 3 6 TE1TH 50 55 59 114 b 74 88 96 184
SO AT 18 17 19 36 TE2TH 240 234 233 467 i1 T A 250 262 283 545
i AT 161 143 176 319 TE3TH 58 65 77 142 b2 TH 247 284 287 571
gy 131 111 129 240 SRIEHT 75 87 84 171 h 3 T H 35 38 40 78
ey 120 132 159 291 3 K F 4,736| 5,352| 5,546 10,898 P4 T H 229 236 296 532
FAYE AT 291 298 212 510 h 5 T H 312 309 302 611
7 A o 120 72 112 184 BRI 502 500 552| 1,052 w2 TH 20 20 21 41
LB A 3 5] 86 53 105 158 A 139 152 143 295 W3 TH 18 21 16 37
KRG 176 158 113 271 Wt 3 3 2 5 I 2T 597 554 632 1,186
W AT 214 187 27 214 471 TH 332 345 359 704 R O SR T 160 102 171 273
S ERT 1T 97 102 93 195 A2 TH 187 235 234 469 % [ BPAT 421 403 420 823
W EIT2 T H 256 250 244 494 &1 TH 441 462 512 974 VR A H B 155 107 176 283
W AT 3 T H 14 10 9 19 2 T H 420 472 316 788 o UK 2,518 2,424 2,740 5,164
Y5 i BT 0 0 0 0 3 TH 328 354 360 714

T 1T A 210 216 182 398 SGE1TH 107 100 119 219 $ AT 1,065 1,228 1,250 2,478
T2 T A 256 259 199 458 GR2TH 339 357 361 718 P BT 827 885 886/ 1,771
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My 4 LR 7 % = L} 4 L i % B Hr 7 = B
pd i 1,562 1,678 1,771 3,449
B i} 1,344 1,433 1,530 2,963
k51T H 236 253 285 538
G 6 T B (EHR) 8 7 7 14
AR b X 5,042 5,484 5,729 11,213
K H 3,529 3,742 4,006 7,748
K H#r 448 476 519 995
T 216 258 270 528
i 940 1,089 1,132 2,221
= 1,205 1,281 1,407 2,688
FLIN 58 69 72 141
byl pitil 536 357 514 871
MM 1TH 195 144 183 327
N2 7TH 326 335 349 684
N3 TH 85 66 66 132
M4 TH 219 246 276 522
N5 TH 394 415 465 880
Hne T H 59 57 73 130
ERE CKH) 0 0 0 0
K I HE X 3 8,210/ 8,535 9,332 17,867
FaTHREE 1,342 1,418 1,562 2,980
B[ i) 618 702 696 1,398
[Eapii) 358 389 410 799
acwa 159 180 206 386
fats 1,508 1,716 1,770 3,486
il 104 109 114 223
ERE 115 123 139 262
HifrE 227 270 285 555
FT7RFE 1 T H 375 394 430 824
4/ T 202 244 237 481
[T R E X 5 5,008 5,545 5,849 11,394
ek 594 603 676 1,279
e 888 977 1,031 2,008
N 732 747 795 1,542
bl X E 2,214 2,327 2,502 4,829
Eikaris 40,386 42,575| 45,053 87,628




